CLASS - VI
SUBJECT - COMPUTER

1. Most of the large firms and government organization uses which type of computer.
A) Supercomputer

B) Mainframe computer

C) PC

D) Minicomputer

2. Microcomputers is also known as
A) Digital computer

B) PDA

C) Laptop -

D) PC (Personal Computer)

3. Which type of computer is used at petrol pumps?
A) Digital computers

B) Analog computer

C) Hybrid computer

D) All of these

4. Which among the following is not a type of microcomputer?
A) Laptop

B) Dekstop

C) PDA

D) Smartphone

5. How many instructions per second can be executed by a computer?
A) Thousand

B) Million

C) Hundred

D) Limited number

6. What is the time period of the first generation computers?
A) 1939 - 1954
B) 1954 - 1959
C) 1959 - 1971
D) 1971 - 1990

7. Which generation of computers existed in the period 1954-1959?
A) First

B) Second

C) Third

D) Fourth

8. To which generation do IBM 360 and IBM 370 series belong?
A) Second

B) Fourth

C) Third

D) First

9. Which generation of computers think like human beings?
A) Fourth
B) Second



C) Third
D) Fifth

10.Which of the following computers come under the fourth generation?
A) UNIVAC 1400

B) ENIAC

C) Pentium

D) Mark-I

11.Which generation of computers work on the concept of artificial intelligence?
A) Second

B) Third

C) Forth

D) Fifth

12.In which generation of computers has Apple developed Macintosh?
A) First

B) Second

C) Third

D) Fourth

13.ENIAC was designed to calculate the ballistic course of shells, who formed this project?
A) Indian Army

B) U.S. Army

C) Both (a) and (b)

D) China Army

14.Which of the following is TRUE regarding the generations of computers?
A) Mark-I belongs to the fourth generation computer.

B) IBM 1620 belongs to the second generation computer.

C) IBM 360 belongs to the first generation computer.

D) Pentium belongs to the third generation computer.

15.Which of the following is a super computer?
A) PARAM

B) ANURAG

C) Both (a) and (b)

D) UNIVAC

16.During processing (calculating), where does the computer store the result temporarily?
A) Primary memory

B) Secondary memory

C) Both (a) and (b)

D) Auxiliary memory

17. Which of the following statements hold(s) true regarding EEPROM?

Statement 1: It can be reprogrammed and erased by applying special programming signals.
Statement 2: Its full form is Electrically Erasable Programmable Read Only Memory.

A) Only Statement 1

B) Only Statement 2

C) Both Statement 1 and Statement 2

D) Neither Statement 1 nor Statement 2



18. Indentify the following.

- It uses Integrated Circuit assemblies as memory to store data persistently.

- It has no moving mechanical components and it is typically more resistant to physical shock.
A) Hard disk drive

B) Solid-state drive

C) Magnetic tape drive

D) All of these

19. Which type of computer used Al (Artificial Intelligence)?
A) Supercomputer

B) Mainframe computer

C) Minicomputer

D) Microcomputer

E) None of these

20. Which type of computer(s) run on multiple operating system?
A) Supercomputer

B) Mainframe computer

C) Both [a] and [b]

D) Microcomputer

E) None of these

21. Which feature does not belong to microcomputers?
A) Uses Al

B) Uses Large Number of CPUs

C) Both [a] and [b]

D) Used for personal application

E) None of these

22. Which of the following is not a type of digital computer?
A) Microcomputer

B) Mainframe computer

C) Supercomputer

D) Minicomputer

E) None of these

23. The most powerful computer in terms of performance are____ .
A) Mainframes

B) Supercomputers

C) Microcomputers

D) Minicomputers

E) None of these

24. Which among the following is/are an application of supercomputers.
A) Space exploration

B) Earthquake studies

C) Weather forecasting

D) Nuclear Weapon Testing

E) All of these

25. Most of the large firms and government organization uses which type of computer.
A) Supercomputer
B) Mainframe computer



C)
D)
E)

26.

A)
B)
C)
D)
E)

27.

A)
B)
C)
D)
E)

28.

A)
B)
C)
D)
E)

29.

PC
Minicomputer
None of these

Microcomputers is also known as
Digital computer
PDA
Laptop -
PC (Personal Computer)
None of these

Which type of computer is used at petrol pumps?
Digital computers

Analog computer

Hybrid computer

All of these

None of these

Which among the following is not a type of microcomputer?
Laptop

Dekstop

PDA

Smartphone

None of these

In PowerPoint, the individual pages of the presentation are called .

A) handouts
B) print outs
C) slides

D) tool bars

30. What should be done to make one section of slides in a presentation use a different design template

A)
B)
C)

D)

31.

from that of the other slides?
Select the slide thumbnails in that section and select the duplicate slide.
Select the slide thumbnails in that section, and apply a different design template.

Select one of the slides in the section you want to change, customize the fonts and colors, and use the

Format Painter to apply those styles to the other slides in the section.
Both (a) and (b).

Which wizard of MS PowerPoint contains a series of questions for designing a presentation?

A) Blank presentation

B) Design templates
C) Auto fill
D) Auto content

32. What enables you to change the background of a slide?

A)
B)
C)
D)

33.

Insert — Background
Format — Background
View — Background
Tools — Background

Which of following are all output devices?

A) Dot matrix printer, MICR, CRT monitor



B) CRT monitor, laser printer, Pen plotter
C) LCD monitor, laser printer, OMR

D) Pen plotter, LCD monitor, barcode reader
E) None of these

34. Multimedia is a technology which presents the simple text information in an innovative way Using
multimedia you can represent information through ___

A) Audio

B) Video

C) Animation

D) All of these

E) None of these

35. Compiler converts high level language into machine language. It converts __at once.
A) Entire program

B) Line by line

C) One instruction

D) one paragraph

E) None of these

36. Observe the following picture. What will be the file extension after saving the file?
A) .txt

B) .exe

C) .pdf

D) -ipg

E) None of these

37. Touch Screen is an:
A) Input device

B) Output device

C) Both [a] and [b]

D) Processing device

E) None of these

38. Which one of the following buttons updates the currently displayed Web page on the Internet Explorer?
A) Favourites

B) Home

C) Refresh

D) Channels

E) None of these

39. An Operating System is;

A) a collection of input-output devices.
B) a collection of hardware components.
C) a collection of software subroutines.
D) a collection of hardware and software.
E) None of these

40. Zipping a file ___the size of the file.
A) Increases

B) Decreases

C) Does not change

D) May decrease or increase



E) None of these

41. In MS-Word 2007, how many times you have to click on a particular word to 'select it'?
A) Once

B) Twice

C) Thrice

D) Four times

E) None of these

42. Interpreter is used as a language translator. Which statement is valid about interpreter?
A) It translates one instruction at a time.

B) Object code is saved for future use.

C) Repeated interpretation is not necessary.

D) All of these

E) None of these

43. Which of the following protocol is used by Internet mail?
A) TCP/IP

B) FTP

C) SMTP

D) PPP

E) None of these

44. The purpose of Auto Sum command is:

A) Total any range that you have selected.

B) Add grand total to a range containing other totals.

C) Locate and total the rows or column in a range nearest to the current cell.
D) All of these

E) None of these

45. In MS-Excel, Today() function puts the current:
A) System time in a cell.

B) System date and time in a cell.

C) System date only.

D) All of these

E) None of these



